TS FEE WMWiK (ZREE - E€R) SRMIGE
RIMEAR : FHSESA24B (B4 - mg/L)
® W & A g L} E E | B K
B B BB 8 R OI E
- E- | TRE | ® %
A RIYLRUZOMEE| <0.003 <0.003 <0.003 <0.003 <0.003 <0.003 | 0.003 | 0.03
T UL EY Q0.1 <1 <1 <1 <01 <0 0.1 1
ARBIEEY Q0.1 <01 <01 <1 <01 <01 0.1 1
BWRUZDIEEY <0.005 = <0.005 = <0.005 ~ <0.005  <0.005  <0.005 | 0.005 | 0.1
Y VA=PR 2L 0.05 = <0.05 = <0.05 = <0.05  <0.05  <0.05 | 0.05 0.5
BERVZOLEY <0.005 = <0.005 =~ <0.005  <0.005  <0.005 ~ <0.005 | 0.005 | 0.1
s <0.0005 = <0.0005 <0.0005  <0.0005 = <0.0005 <0.0005 | 0.0005 | 0.005
7L F LKL EY <0.0005 | <0.0005 ~<0.0005 = <0.0005 <0.0005 = <0.0005 | 0.0005 | HHEH
B \pcs <0.0005 | <0.0005 = <0.0005 = <0.0005 <0.0005 = <0.0005 | 0.0005 | 0.003
FysOOIFLY 0.01 | <0.01  <0.01  <0.01  <0.01  <0.01 | 0.01 0.1
FhS/0AIFLY 0.01 | <0.01  <0.01  <0.01  <0.01  <0.01 | 0.01 0.1
YLD 0.02 | <0.02 | <0.02  <0.02  <0.02  <0.02 | 0.02 0.2
miE LR % <0.002 = <0.002 = <0.002  <0.002  <0.002  <0.002 | 0.002 | 0.02
1,2-/00T8 Y <0.004 = <0.004  <0.004  <0.004  <0.004 <0.004 | 0.004 | 0.04
1,1-S/0aTFLY Q0.1 <01 <01 <1 <01 <01 0.1 1
B 121,25 poarsyy <0.04 | <0.04  <0.04  <0.04  <0.04  <0.04 | 0.04 0.4
1,1, 1-byymnzsy 0.3 0.3 0.3 <03 <03 <03 0.3 3
1,1, 2-py9mnTsy <0.006 = <0.006 = <0.006 ~ <0.006  <0.006  <0.006 | 0.006 | 0.06
g [1.8- mn7"ma"y <0.002 | <0.002 = <0.002  <0.002  <0.002  <0.002 | 0.002 | 0.02
FH5 L <0.006 = <0.006 = <0.006 ~ <0.006  <0.006  <0.006 | 0.006 | 0.06
YISy <0.003 = <0.003 = <0.003 = <0.003  <0.003  <0.003 | 0.003 | 0.03
FARUANT 0.02 | <0.02 | <0.02  <0.02  <0.02  <0.02 | 0.02 0.2
Roty 0.01 | <0.01  <0.01  <0.01  <0.01  <0.01 | 0.01 0.1
LU RUZDIEEY <0.005 = <0.005 =~ <0.005  <0.005  <0.005 ~ <0.005 | 0.005 | 0.1
E5RRUZDILEY 0.2 0.1 <01 0.3 0.1 <1 0.1 |10 (280) *
SORRUZDIEEY 0.8 0.8 0.8 <08 <08 0.8 0.8 (8 (15) *
1ASH Yy 0.05 = <0.05 = <0.05 = <0.05  <0.05  <0.05 | 0.05 0.5
7/ -LVEREE 0.5 0.5 0.5 0.5 <05 <05 0.5 5
£ AEEE 0.02 | <0.02  <0.02  <0.02  <0.02  <0.02 | 0.02 3
2 |mnans 0.05 = <0.05 = <0.05 = <0.05  <0.05  <0.05 | 0.05 2
iﬁj SHEHE 0.06  <0.05 <0.05  0.08  <0.05  <0.05 | 0.05 10
B |evrvasi 0.05 = 006 | 005 007  <0.05 <0.05 | 0.05 10
HOLEHE 0.05 = <0.05 = <0.05 = <0.05  <0.05  <0.05 | 0.05 2
FLTY 0.01 | <0.01  <0.01  <0.01  <0.01  <0.01 | 0.01
R |7orEs <0.005 = <0.005 = <0.005 ~ <0.005  <0.005  <0.005 | 0.005
;| <0.005 = <0.005 = <0.005 ~ <0.005  <0.005  <0.005 | 0.005
ol Sy 0.016 | <0.005 = <0.005 ~ 0.020  <0.005 ~ 0.005 | 0.005
£YITY 0.008  <0.005 = <0.005 ~ 0.006  <0.005 ~ <0.005 | 0.005

X1: ( )ADEREHERRLEE T 2HEEDEE

ETFKERTKEHKEEER



